et

1 AN

1. LEA4
TH4 R7 HINERITEHERTE
T4 &I RE LA A
2. TENE

1)  FHEIT4 SR ESET LB i

2) X I f& HEWETH

3) T ) 224 H [# 4Fn 74 3H22H

A THE10H 31 A
4) T EgE

i@ Aokt 5w m




B N ERE

THE4 | R7 I ERTHFEAERTHE

THXSy « TfE - FER A B & & B # ] ) 7
1H ok B = 1 74, 367, 316
HELT Y 1 1,416, 186
BEAARRE LT =X 1 1,416, 186 | B&IA (SE42) &+ 1,200 m3
4. 0mPL F
b S (WBh) 1 =K
Y 0 CE- ERREY EET)
FEIA (b=27) (WPB) 1 =K
B A E4
R+ T 2V 1 66, 015, 244
LT 2V 1 372,338 |FKIEY 1 =K
=2 ER
HEL 1 =
KEE A
b S (WBh) 1 =K
Y 0 CE- ERREY EET)
FEIA (=27) (WPB) 1 =K
B A E4
BEK LT = 1 57,859, 592 |IEEFK+ 902 m3
EPS7 ny) DX-24H #Eki ;
LS 15 m3
EPS7 ny) DX-29 HEBAME ;
LS 7 m3
EPS7 ny) DX-35 HEAME ;
27 =MAR 613 m2
24-12-25BB W/C=55% t=15cm ;
BE A 196 m2
TEAER TR A MK ;
BANA 86 m3
BREMA (BT 7 ABEKTH) 6. 0kN/m3
1D/
25 1 2

-1 - ESR o3 E < o] 3 ok S




PR NERE

THE4 | R7 I ERTHFEAERTHE

THRXSy - LA - fERl B ¥ = & H A il ] 7
HERY
HF fEWr Pk & 20 m
FEER V=PV v v FALE ¢ 100
H AR HEAK 14 m
BN VIRV v S ILAE 6 100 BV
FeIE
PEKE T 6 1
EEBEN V= TR ¢ 1004
Th-T = 6,511,125 |7v/i-TAFBIE (7/h-) 1 =
HIFL (778-) 187 m
ERIRCY
T/ A-SRBAIN L RS - 4N - BR AR - B A - BRI AL (7 0-) 21 %N
7779 MEAN m3
TA/ M =AM BE (Tvi-F) N1230kg W/C40~55
AT w) T x 1,272,189 |2v7)-} 0 m3
24-12-25BB W/C=<55% ;
T 1 =K
— R
EINi] 0.27 t
SD345 D13 ;
2831} 1.51 t
SD345 D16~25 ;
HEBET 2V 3, 050, 288
LT =X 114,562 |FE#RY 1 =K
- ER
HEL 1 =
KEE A
THb S E M (OBH) 1 =K
EaE R CE- EARY LE D)
FEHA (=27 () 1 =K
R B8
FEIH ¥ IE 1 =
-2 - Ermy bR = R




il

il
o
%gg
Tt

THE4 | R7 I ERTHFEAERTHE

THXSy « TfE - FER A B & & B # a1l ) 7
ST T HERE 1. 2V 1 2,935,726 |2v7)=} 40 m3
18-8-40BB W/C=60% ;
T A7 P 24 m2
AL
T A7 P 32 m2
HHMT
B Hib 4 m2
i WlHE ' B AR t=10mm ;
RN A7 1 =K
VP-100 74Wj—1E ;
W H U BG 1R A4 0.5 m2
t=20mm ;
R~ L 2V 1 3, 307, 293
EAE (R T 2V 1 3,307,293 | B AHE () 89 m2
6 1. Im
RN A7 1 =K
VP-50 ;
W H LB 1EA4 1 m2
t=20mm ;
R T Y 1 578, 305
87 - ki B T Y 1 578,305 | KEILD H 1 =
B - R ¢ 110X 110cm BH (14F) il
[ERCAE Xy 2V 1 74, 367, 316
BT = 1 23, 767, 632
B = 1 13, 757, 632
TR = 1 113, 532 | A kmF) ik 1 =
7t e =K 1 5,075,000 | -3 isf 52 1 =K

-3 - ESR o3 E < o] 3 ok S




PR NERE

THE4 | R7 I ERTHFEAERTHE

THEXS - T - FER B ¥ & & K Hm a1l W 7]
B gy = 22,100 | KTy MECTIE B 1 =
W/C3-4

e Y 7,774,000 | REE (B1H) 1 7
Bl REUER (FE L) Y 773, 000
IR (Rt L) Y 10, 010, 000
il TR = 98, 134, 948
Bl Y 30, 679, 000
T =5 = 128, 813, 948
— R B Y 21, 366, 052
T =AM = 150, 180, 000

-4 - B P K N o3 L i3 D




